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(Marks will be deducted for untidy work and work not done in systematic manner).
SECTION — A (10 marks)

1.Fill in the blanks:

) 190-90 =100 (1x10=10)
b) 12 tens + 5 ones = 125
)

)

a

425 +575 = 1000

d) 150 —-50=100

e) 40 +60 =50 + 50

f) 120+140 = 26 tens

g) 90-10=80

h) 3 more than 247 is 250
i) 160 —120 = 40

j) 4 less than 504 is 500

C

SECTION - B (15 marks)

2) Arrange and add: (3%2=6)
a) 3469+29+589
THHTO
é 4 6 9
5 8 9
—+ 2 9
4 0 8 7
Ans : 4087



b)15+2503+3615
TH HTO

Ans : 6133

3) Arrange and subtract (3%x2=6)
a) 5009 - 4980

T™H HTO

5 0 0 9

4 9 8 0

0 0

Ans : 29

b) 3899 -3261
THHTO

4) Do as directed: (3)
a)Expand:5039

5000 + 0+ 30 +9

b) Write in numbers:

Five thousand and one

5001



c) Write in descending order:
3192, 1395, 3092, 3291
3291, 3192, 3092, 1395

SECTION = C (20 marks)

5) Simplify: (5)
7384 — 4326 + 1948

= 7384 + 1948 - 4326

=9332 - 4326

= 5006

Ans : 5006

6) Find the difference and verify your answer:

Subtraction
8946

- 2335
_ 6611
Verification
2335
+6611
_ 8946
Ans : 6611 - Verified

7) Solve the problems:

(%)

(6+5)

a) Raj had 2438 toys. He gave 1230 toys to Maya and 1033 toys to Alex. Remaining toys were given to Hari.

How many toys did Hari get?

Number of toys given to Maya

Number of toys given to Alex + 1033

Total number of toys given

Number of toys Raj had

Number of toys given to Maya and Alex
Number of toys Hari got

Ans : Hari got 175 toys.



b) There are 1648 bags of rice, 2543 bags of wheat and 3018 bags of sugar in a store. Find the total number of
bags in the store?

Number of rice bags 1648
Number of wheat bags 2543
Number of sugar bags 3018
Total number of bags 7209

Ans : There are 7209 bags in the store.
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